RIVERA KING BED
ASSEMBLY INSTRUCTIONS URBAN BARN

BOX #1

A.HEADBOARD 1PC

BOX#2

B. FOOTBOARD 1PC
C.SLAT ROLL 1 SET

BOX #3

D. SIDE RAIL 1 SET
E. CENTER RAIL 2 PCS
F. SUPPORT LEGS 4 PCS

HARDWARE PACKED IN BOX #2

No.| Description Image Qty
1 | ALLENBOLT (8X30mm) 08 PCS
2 ALLEN BOLT (6X40mm) (o) 04 PCS
3 | SPRING WASHER (M8) D 08 PCS
4 | FLAT WASHER (M8) 08 PCS
5 | SPRING WASHER (M6) D 04 PCS
6 | FLAT WASHER (M6) 04 PCS
7 | DOWEL 08 PCS

PHILLIPS HEAD SCREW
8 (4X25mm) M 08 PCS
O | ALLENKEY % 01 PC

i —

Not Provided




URBAN BARN

RIVERA KING BED
ASSEMBLY INSTRUCTIONS

STEP 2 :

STEP 3:




ASSEMBLY INSTRUCTIONS

RIVERA KING BED

URBAN BARN

STEP 4:

INSTRUCTIONS FOR ADJUSTING LEVELER:

Position the bed in your space and locate the

leveler under each support leg.

Turn the leveler counter-clockwise to extend the

leveler and clockwise to retract it.

Adjust each leveler until each support leg is
applying equal, upward pressure on the bed support

slat.

&

<2

MAINTENANCE INSTRUCTION:

e Remove box spring and mattress before
moving your bed.

e Lift your bed when moving it.
Dragging can damage the leg support.

e Readjust levelers after moving your bed.




RIVERA KING BED
ASSEMBLY INSTRUCTIONS URBAN BARN

APPENDIX A: ADJUSTABLE MATTRESS BASE ASSEMBLY SUPPLEMENT

AN ADJUSTABLE MATTRESS BASE IS A FREESTANDING MATTRESS SUPPORT THAT SITS WITHIN
THE PERIMETER OF THE BED FRAME.
IF USING THIS BED FRAME WITH A STANDARD BOX SPRING OR FOUNDATION THESE INSTRUCTIONS DO NOT APPLY.

PRE-ASSEMBLED SIDE RAIL CLEATS OBSTRUCT ADJUSTABLE BASE INSTALLATION AND OPERATION.
FOLLOW THESE INSTRUCTIONS TO REMOVE THEM.

THE FOLLOWING PARTS ARE NOT REQUIRED FOR ADJUSTABLE MATTRESS BASE INSTALLATION :

C.SLATROLL :1SET 2. ALLEN BOLT ( 6X40mm) 4PCS
E. CENTER RAIL : 2PCS 5. SPRING WASHER (M6)  4PCS
F. SUPPORT LEGS :4PCS 6. FLAT WASHER ( M6 ) 4PCS

7. DOWEL 8PCS

8. PHILLIPS HEAD SCREW 8PCS

STEP #1:
USE ALLEN KEY (9) TO UNSCREW ALLEN BOLTS AND REMOVE PRE-ASSEMBLED SIDE RAIL CLEATS.

NOTE : YOU MAY WISH TO RETAIN UNUSED PARTS IF IN THE FUTURE YOU INTEND TO USE THE BED FRAME WITH
A STANDARD BOX SPRING OR FOUNDATION.




RIVERA QUEEN BED
ASSEMBLY INSTRUCTIONS URBAN BARN

BOX #1

A.HEADBOARD 1PC

BOX#2

B. FOOTBOARD 1PC
C.SLAT ROLL 1 SET

BOX #3

D. SIDE RAIL 1 SET
E. CENTER RAIL 1PC
F. SUPPORT LEGS 2 PCS

HARDWARE PACKED IN BOX #2

No.| Description Image Qty
1 | ALLENBOLT (8X30mm) 08 PCS
2 | ALLEN BOLT (6X40mm) 02 PCS
3 | SPRING WASHER (M8) D 08 PCS
4 | FLAT WASHER (M8) 08 PCS
5 | SPRING WASHER (M6) D 02 PCS
6 | FLAT WASHER (M6) 02 PCS
7 | pOWEL 04 PCS

PHILLIPS HEAD SCREW
8 (4X25mm) M 06 PCS
O | ALLENKEY /7 01 PC

i —

Not Provided




URBAN BARN

RIVERA QUEEN BED
ASSEMBLY INSTRUCTIONS

STEP 1:

STEP 2 :

STEP 3:




RIVERA QUEEN BED
ASSEMBLY INSTRUCTIONS

URBAN BARN

INSTRUCTIONS FOR ADJUSTING LEVELER:

Position the bed in your space and locate the
leveler under each support leg.

Turn the leveler counter-clockwise to extend the

leveler and clockwise to retract it.

Adjust each leveler until each support leg is

applying equal, upward pressure on the bed support

slat.

&

<2

MAINTENANCE INSTRUCTION:

e Remove box spring and mattress before
moving your bed.

e Lift your bed when moving it.
Dragging can damage the leg support.

e Readjust levelers after moving your bed.




RIVERA QUEEN BED
ASSEMBLY INSTRUCTIONS URBAN BARN

APPENDIX A: ADJUSTABLE MATTRESS BASE ASSEMBLY SUPPLEMENT

AN ADJUSTABLE MATTRESS BASE IS A FREESTANDING MATTRESS SUPPORT THAT SITS WITHIN

THE PERIMETER OF THE BED FRAME.
IF USING THIS BED FRAME WITH A STANDARD BOX SPRING OR FOUNDATION THESE INSTRUCTIONS DO NOT APPLY.

PRE-ASSEMBLED SIDE RAIL CLEATS OBSTRUCT ADJUSTABLE BASE INSTALLATION AND OPERATION.
FOLLOW THESE INSTRUCTIONS TO REMOVE THEM.

THE FOLLOWING PARTS ARE NOT REQUIRED FOR ADJUSTABLE MATTRESS BASE INSTALLATION :

C. SLATROLL t1SET 2. ALLEN BOLT ( 6X40mm) 2PCS
E. CENTER RAIL :1PC 5. SPRING WASHER (M6)  2PCS
F. SUPPORT LEGS : 2PCS 6. FLAT WASHER ( M6 ) 2PCS

7. DOWEL 4PCS

8. PHILLIPS HEAD SCREW  6PCS

STEP #1:
USE ALLEN KEY (9) TO UNSCREW ALLEN BOLTS AND REMOVE PRE-ASSEMBLED SIDE RAIL CLEATS.

NOTE : YOU MAY WISH TO RETAIN UNUSED PARTS IF IN THE FUTURE YOU INTEND TO USE THE BED FRAME WITH
A STANDARD BOX SPRING OR FOUNDATION.




TRES GRAND LIT RIVERA
INSTRUCTIONS D’ASSEMBLAGE

URBAN BARN

BOITE N© |

A. TETE DE LIT

1PC

BOITE N© 3

D. COTE DE LIT 1 ENSEMBLE
E. RAIL CENTRAL 2PCS
F. PATTE DE SOUTIEN 4 PCS

BOITE N© 2

B. PIED DE LIT
C. LATTES

1PC
1 ENSEMBLE

MATERIEL EMBALLE DANS LA BOITE N° 2

No.| Description Image Qté
1 |BOULON ALLEN (8X30mm) 8 PCS
2 [BOULON ALLEN (6X40mm) 4PCS

RONDELLE A RESSORT
3 |ms) D 8 PCS
4 | RONDELLE PLATE (M8) 8 PCS
RONDELLE A RESSORT 4PCS
5 | M6 ‘®)
6 | RONDELLE PLATE (M6) 4PCS
7 | GousoN =7 8 PCS
VIS A TETE ETOILEE
8 (4X25mm) W 8PCS
O | CLEALLEN % 1PC
00:30

Non fourni




URBAN BARN

TRES GRAND LIT RIVERA
INSTRUCTIONS D’ASSEMBLAGE

ETAPE 1:

ETAPE 2:

ETAPE 3:




TRES GRAND LIT RIVERA
INSTRUCTIONS D’ASSEMBLAGE

URBAN BARN

ETAPE 4:

ETAPE 5:

INSTRUCTIONS POUR METTRE A NIVEAU :

Positionner le lit a ’endroit voulu et localiser le vérin
de calage (utilisé pour la mise a niveau) de chacune
des pattes de soutien.

Tourner le vérin en sens anti-horaire pour augmenter "
sa hauteur, ou en sens horaire pour la réduire. —

Ajuster chacun des vérins jusqu’a ce que le lit soit a
niveau et que la pression verticale exercée par les
pattes de soutien sur les lattes soit uniforme.

INSTRUCTIONS D’ENTRETIEN :

eRetirer le matelas et le sommier a
ressorts avant de déplacer le lit.

eSoulever le lit pour le déplacer. Le
pousser ou le tirer pourrait endommager
les pattes de soutien.

eRéajuster le niveau aprés avoir bougé le
lit.




TRES GRAND LIT RIVERA
INSTRUCTIONS D’ASSEMBLAGE URBAN BARN

ANNEXE A : SUPPLEMENT : ASSEMBLAGE POUR UTILISATION AVEC BASE DE MATELAS REGLABLE

Une base de matelas réglable est une base de soutien réglable indépendante du cadre, que I’'on insére dans le périmétre
du cadre de lit.

Ces instructions NE S’APPLIQUENT PAS pour une utilisation du lit avec un sommier a ressorts ou une base de matelas
standards

Les barreaux des cotés de lit préassemblés empéchent I'installation et le fonctionnement d’une base de
matelas réglable. Suivre ces instructions pour les retirer.

Les piéces suivantes ne sont pas requises pour I’installation d’'une base de matelas réglable :

C. LATTES : 1 ENSEMBLE 2. BOULON ALLEN ( 6X40mm ) 4 PCS
E. RAIL CENTRAL :2PCS 5. RONDELLE A RESSORT (M6) 4PCS
F. PATTE DE SOUTIEN :4PCS 6. RONDELLE PLATE (M6 ) 4 PCS
7. GOUJON 8 PCS
8. VIS A TETE ETOILEE 8 PCS
ETAPE N°1 :

Utiliser la clé Allen (9) pour dévisser les boulons Allen et retirer les barreaux des cotés de lit préassemblés.

A NOTER : Conserver les piéces inutilisées pour utilisation potentielle future du lit avec une base ou un sommier a
ressorts standards.




GRAND LIT RIVERA
INSTRUCTIONS D’ASSEMBLAGE URBAN BARN

BOITE NO | BOITE N° 2
ATETEDELIT 1PC 4 B. PIED DE LIT 1PC

C. LATTES 1 ENSEMBLE
BOITE N© 3
D. COTE DE LIT 1 ENSEMBLE
E. RAIL CENTRAL 1PC

F. PATTE DE SOUTIEN 2 PCS

MATERIEL EMBALLE DANS LA BOITE N° 2

No.| Description Image Qté
BOULON ALLEN (8X30mm) 8 PCS
BOULON ALLEN (6X40mm) () 2 PCS
RONDELLE A RESSORT
M) ‘S 8 PCS
RONDELLE PLATE (MS8) 8 PCS
RONDELLE A RESSORT ) 2PCS
(M6)

RONDELLE PLATE (M6) 2PCS
GOUJON 4PCS

(4X25mm) 6 PCS

CLE ALLEN /7 1PC

1
2
3
4
5
6
7
8 |V A TETE ETOILEE
9

e

Non fourni




URBAN BARN

GRAND LIT RIVERA
INSTRUCTIONS D’ASSEMBLAGE

ETAPE 1:

ETAPE 2:

ETAPE 3:




GRAND LIT RIVERA
INSTRUCTIONS D’ASSEMBLAGE URBAN BARN

ETAPE 4:

ETAPE 5:

INSTRUCTIONS POUR METTRE A NIVEAU : INSTRUCTIONS D’ENTRETIEN :
Positionner le lit a ’endroit voulu et localiser le vérin oRetirer le matelas et le sommier a
de calage (utilisé pour la mise a niveau) de chacune ressorts avant de déplacer le lit.
des pattes de soutien.

- eSoulever le lit pour le déplacer. Le
Tourner le vérin en sens anti-horaire pour augmenter pousser ou le tirer pourrait endommager
sa hauteur, ou en sens horaire pour la réduire. — les pattes de soutien.
Ajuster chacun des vérins jusqu’a ce que le lit soit a eRéajuster le niveau aprés avoir bougé
niveau et que la pression verticale exercée par les le lit.

pattes de soutien sur les lattes soit uniforme.




GRAND LIT RIVERA
INSTRUCTIONS D’ASSEMBLAGE URBAN BARN

ANNEXE A : SUPPLEMENT : ASSEMBLAGE POUR UTILISATION AVEC BASE DE MATELAS REGLABLE

Une base de matelas réglable est une base de soutien réglable indépendante du cadre, que I’'on insére dans le périmétre
du cadre de lit.

Ces instructions NE S’APPLIQUENT PAS pour une utilisation du lit avec un sommier a ressorts ou une base de matelas
standards

Les barreaux des cotés de lit préassemblés empéchent I'installation et le fonctionnement d’une base de
matelas réglable. Suivre ces instructions pour les retirer.

Les piéces suivantes ne sont pas requises pour I’installation d’'une base de matelas réglable :

C. LATTES :1ENSEMBLE 2. BOULON ALLEN (6X40mm ) 2PCS
E. RAIL CENTRAL :1PCS 5. RONDELLE A RESSORT (M6) 2PCS
F. PATTE DE SOUTIEN :2PCS 6. RONDELLE PLATE (M6 ) 2PCS
7. GOUJON 4PCS
8. VIS A TETE ETOILEE 6 PCS
ETAPE N°1 :

Utiliser la clé Allen (9) pour dévisser les boulons Allen et retirer les barreaux des cotés de lit préassemblés.

A NOTER : Conserver les piéces inutilisées pour utilisation potentielle future du lit avec une base ou un sommier a
ressorts standards.




	AI_IA_RIVERA KING BED.pdf
	Pages from AI_Rivera King Bed.pdf
	AI_Rivera King Bed.pdf
	AI RIVERA KING BED revised 19.02.pdf
	Sheets and Views
	Model

	Sheets and Views
	Model

	Sheets and Views
	Model

	Sheets and Views
	Model




	AI_IA_RIVEVA QUEEN BED.pdf
	Pages from AI_Rivera Queen Bed.pdf
	AI_Rivera Queen Bed.pdf
	Binder1.pdf
	AI RIVERA QUEEN BED revised 19.02
	Sheets and Views
	Model

	Sheets and Views
	Model

	Sheets and Views
	Model

	Sheets and Views
	Model








